20169 = 20l SFI=ANLSSEI A AA

2H: BESXD
Hz: HIIS I
ol B BH(BPIIZAMLSHE) (sl &2)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
A =X 4,857,380 4,337,687 519,693
= 299,500
= 11,900
= 4,545,980
HoI2 A3 3,505,110 2,985,417 519,693
= 299,500
< 11,900
= 3,193,710
HA HYH(SHAIZANLEELESAH) 836,900 831,297 5,603
= 299,500
= 11,900
= 525,500
HIIE Mel X 231,900 218,440 13,460
201 et 9| 36,500 37,040 A B40
01 AP 2t 2] d| 36,500 37,040 A B40
Ogtt4f2Y| 20,000
— MAD| Hi&S OtLy &t 200,000 #2504 A 5,000
— MY ISt EE= 2,000& x1,5000H 3,000
—HJIEHS 22AXel 25 2,000
— MYD] SEHED HXAHE 2HT 3,000
—CCTVEH % &2 ot MADA, DO =&
SANT=Z 900
—XNAHIIS FE KX 1,500
— ZglE dALADE 2,000
—HAZSANE MEE 22! 2,000
— MY Il HIEXE AdlEE A= 600
OSgH(HIISEx) 2,100
Oltsdzgdss) U Ld(EHX, L=
1,300,000 x4 %2l &4 10,400
e £HBEA FIEI 7Y 2,000
OHJI28 3yl 2,000
206 M = Hl 112,400 79,400 33,000
01 =4l 112,400 79,400 33,000
oMrdllss M 60,000
OFAL2H 2B 3,000
OSAZHII=E 8E4+HED] 35,000 = 15004 5,250
OSAZHIIS 822D (JIEE)
10,000%2,5007H 25,000
Ogx=xHE 2,000
OHAZR£+=HE 2,000
OMeEE SeldeE 500,000 54 2,500
OI=0r 2,000 x500H4 1,000
OoMgzseldyd 22 00 (40kg,500ke =)
5,000 x6800H 3,400




SN BE=XD
J

3 o

tel: A HIY(BZIZAMNLESEIA) (=& J)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
ONMESEHS M& M= (dEs)
35,000 70 2,450
oungess €I 2232 3,000
ONHEZE BAE M3 5,000& »4021 23| 400
OMasEHL=sE 7¢ 120& %20, 0000H 2,400
307 glz2+ol & 7,000 6,000 1,000
05 RIZIRI & 3 7,000 6,000 1,000
OHs< =JXHel 7,000
401 AIEBIZ 28I 76,000 96,000 220,000
01 A& tl 76,000 96,000 220,000
OBYHHI B4 et £X
5,000,000& *20H 2~ 10,000
OHEXE Adt=SZ A4 &X 6,000
OMYDIIHEXNE SEHE &X
15,000,000 *2H 2 30,000
OoXgJl BHEXE dA ¥ 228Y 30,000
Heges =% & Hilsda 24 44,000 51,000 AT,000
201 et 3,000 6,000 A 3,000
01 At 22l 3,000 6,000 23,000
OHsIIAH & HWEHII=S =H X
600,000& x5 3,000
301 L2 A S 41,000 41,000 0
11IIEEAS 41,000 41,000 0
ONMegEs =&8Zd= 20,000
OR&4=d HEES B&=3 10,000
ONM&EE =& 282 N3 1,000
Ol =& 243 10,000
HHEY =HE4 64,000 64,000 0
= 7,500
< 11,900
s 44,600
301 g2 L= 64,000 64,000 0
= 7,500
< 11,900
s 44,600
MIIEBEAS 64,000 64,000 0
OHHBIY =AH24 80& *800,000kg 64,000
= 7,500
= 11,900
[ia 44,600
ot Y ot MIl At 357,000 342,857 14,143
= 250,000
[ia 107,000




SN BE=XD
J

3 o

ol HA HEH(BBIZANESESA) (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
101 14 Hl 65,143 65,143 0
= 45,600
s 19,543
04 JIZHHZ22XREES 65,143 65,143 0
Odt2Re BERMYI =H oAyl 65,143
= 45,600
s 19,543
201 L2l 42,714 42,714 0
= 30,400
= 12,314
01 At 22l 42,714 42,714 0
OotRY 2RX2HI =AHAXE St 34,014
= 24,400
s 9,614
Oot2RY 2RXYI =HES 8,700
= 6,000
s 2,700
401 Al B2 28I 249,143 235,000 14,143
= 174,000
i 75,143
01 A& HI 249,143 235,000 14,143
Odt72e AdI| A M (1,000€) 249,143
= 174,000
s 75,143
Y=HHY HoHE 140,000 155,000 215,000
= 42,000
i 98,000
401 AIEHIZL 28I 140,000 155,000 215,000
= 42,000
= 98,000
01 A& Hl 140,000 155,000 A 15,000
Od=Hb Y &Eot& 5,000,000 *28H 2~ 140,000
= 42,000
e 98,000
HIIE M2lAld 2 (S#ZIZAIEELHSIA) 2,668,210 2,154,120 514,090
HII2X2AlE 22| 892,410 403,320 489,090
201 LB-2dH| 445,610 386,520 59,090
01 At 2t 2l 47,070 35,980 11,090
O e8| 47,070
—dEs FEINEINES)
340,000& *123] *30H 2 12,240
—ds+ gRaIHES)
340,000 *123] 10 & 4,080
— XI5t== (2404 & =) 180, 000 *43| *4H 2~ 2,880
— ol 4= (25018 %) 320,000% *43| «20H 2~ 2,560




SN BE=XD
=L R I L

¢l HIIE MelAd 2 (BHIZALEEE3AH) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
—OHEE AH2O I A1) 1,000
HEE EL2FE ZAM
4,000,000& «2J4 & 8,000
—HEE WEA AAN
300,000 *20H & 600
— SASMYUIIHEIAE EIIZA
2,000,000 *13] 10 A 2,000
—MEHIIS dM2AAE ZBIIZHA
2,000,000 * 18] =100 A 2,000
—AZSHEANE EIIZA
2,000,000 *138] 100 A 2,000
—EABAME L] J=sNE Y 2,500
—2aEgs AEZ 550
—&d=) 8 #dExz 3,500
—HEgd RIHESA 2,600
—MEHIISLTSVHBAY HaLY 560
02 =24l 398,540 350,540 48,000
O3 & HA 356,100
—dojetd el 84 40,000,000& %13 40,000
—HIItEBA B3 300,000& =123l 3,600
—& -5t E AER3 1,000,000& »12& 12,000
—SZMNERE = 250,000 »23| 500
—HEEAMEUW &3 (5MHLA)
25,000,000& x12& 300,000
OAE ZHI S X 42,440
—HEd A==l 3,000,000 =34 2 9,000
—NHEESSHEY | 2,000,000& x13] 2,000
—&&+ HelAlE |l
5,000,000& 14 & 5,000
—38AME HMelAlE |l
10,000,000 * 104 2 10,000
—HJlS2d daEH S 2
120,000& = 12& 1,440
—MBTE X C2IAlE |RAXHl 15,000,000 *1JH 2 15,000
206 M= Hl 6,800 6,800 0
01 =8l 6,800 6,800 0
O & &A% SF 550,000& x6& 3,300
O & JtaxZay 50,000 *40K 2,000
OHHEXNE A= - AHMAHMN , 2D U=
100,000 =158t A 1,500
207 A RO 40,000 10,000 30,000
01 289 40,000 10,000 30,000
OSAER =T 2Hel H¥EH Hita4d 15,000
OMEHIIE dXelANE 29 itz 10,000




=
S HYIE MEE
CHYI2 MelAld 2E(EHIEAESEIA)

= - — SHE]|
SN HE B (BH) - MR - BES e bl D=2t
OMEZZ MHEX FHEIIAM EA(2MHLA) 15,000
401 Al B2 28I 400,000 0 400,000
01 A& HI 400,000 0 400,000
OHmHJI= A&XHel 200,000
OBASFHIIS S3HElANE =F4Hl WA 200,000
Faxd M € sX2el 190,800 190,800 0
201 LBH2E | 190,800 190,800 0
02 3322l 190,800 190,800 0
OFAXE |RF 450,000 x16CH =123 86,400
OFAXE KA E= 450,000 x16CH«12& 86,400
OE&EE 24 |% 500,000& *2CH =128 12,000
O2=2H & 500,000& =12 6,000
[JI2 HMelAleg 22 ,585,000 1,560,000 25,000
206 M= Hl 75,000 104,000 229,000
01 =8l 75,000 104,000 A 29,000
O8H= Mel ¢28 ¢ 75,000
307 glz2+ol & ,510,000 1,456,000 54,000
05 RIZHRI &t 3 ,510,000 1,456,000 54,000
OSAESRHIIES =H2E™el Y 610,000
OMBTAIE 2 /I 900,000
HE2H AL (BZ=X1) ,352,270 1,352,270 0
Ol 2HH(BHE I ZAEESLESIA) ,352,270 1,352,270 0
A Eg2e A 2E] ,352,270 1,352,270 0
101 @124l ,352,270 1,352,270 0
03 RIAHA2ZZHE > ,352,270 1,352,270 0
OJ123 1,800,000%26% =122 561,600
OF v 309,400
—J|g=g 2,000,000 x26 % *43| *50% 104,000
- &3z 2,900,000 26X x23| x50% 75,400
— M@ty 2,000,000& x26Z *53| *50% 130,000
OFSELE=, 93,600
—ExE 80,0003 x26H x12& 24,960
—ExYRE 120,000& 26 H » 128 37,440
—Ag+< 30,0003 x26H x12& 9,360
—Ag¥AdsE 70,0003 x26H «12& 21,840
OXNUHESHIEE+Y (11SEH)
267,000%5H x4 3| 5,340
Oxl=z=2=¢ 257,920
— A2 Z2E
12,000 x26H *15A1 2+ x 128 56,160




SN BE SN
HH: HH2ILH(#I=TL)
Chol: ol gl (BRI EALSHESN)

A B (EA) - MRAY - BES Of &t o4 il
—5¢2f=E 120,000 x26F x4 2 x 123 149,760
—dRsRIHrE 100, 000 & 26 x20 52,000

O=scl=4] 112,320
— A ZAHl 160,000 26 x12& 49,920
—EE 0t 2,000,000%26% 23| x60% 62,400

Oobl 200,000& 26 5,200

o=l 6,890
— s 50,0003 26 »23] 2,600
—&g=s 50,0003 26 23| 2,600
— e 40,0002 269 1,040
—ER9 25,0003 26 650




N = 0l & At & M A

2016 & 20la SFIZAIESESAH MK
AN dot=SAFE A
HE: 54c 2el
¢l ot HEH ¥ SXN(EHINZANLEEEFAH) (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
AotrS ALE A 9,712,757 13,111,700 A 3,398,943
= 3,744,000
< 802,000
s 5,166,757
ot 2tel 9,542,757 13,111,700 A 3,568,943
= 3,744,000
< 802,000
[ia 4,996,757
St=20EH £ R (BZIZALEELE3IAH) 150,000 5,856,000 25,706,000
ot==2t) HHl & =& 150,000 150,000 0
401 AIEHI L 20 150,000 150,000 0
01 A& HI 150,000 150,000 0
OOtE ot=& S ot=2H FHl 150,000
SOHENSoH=SZHI (A ZAMESLEIA) 4,848,000 2,299,000 2,549,000
= 3,394,000
< 727,000
s 727,000
g&, 0ot (28 AH) 4,848,000 0 4,848,000
= 3,394,000
< 727,000
i 727,000
401 AIEHI L 201 4,848,000 0 4,848,000
= 3,394,000
< 727,000
s 727,000
01 A& HI 4,848,000 0 4,848,000
Ogg 2&E0S ot (2 H) 4,848,000
= 3,394,000
< 727,000
i 727,000
BHAJIZAE 22 2 (SEIN=AESESH) 4,544,757 4,956,700 A411,943
= 350,000
< 75,000
i 4,119,757
SBII=ANE 29 1,803,757 534,700 1,269,057
101 @124 dl 339,807 0 339,807
04 JIZHHZ2XREES 339,807 0 339,807
O33at=HMelAle 2el2d 339,807
— S3ot=HelAlE SZEE 224
38,540,000 »1H 38,540
— S3ot=HalAlE 22FY 22|
33,740,000 »2H 67,480
— S3ot=HlAlE 222F 224
30,060,000 »3H 90,180




SA: ABIAT A A
&

s 545 e
el SHIIZALE 2ol - 2 (BHIZAMEEESA) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
— 2L M2 222g A
28,020,000& »1H 28,020
—XRIIEEsHMelE 2el2g A
26,860,000& »1H 26,860
— A2 R (1)
8,370& «8H «35A| 2tx 12 28,124
—5d=4 75,1703 x8Y x30 18,041
— 83 WsHH 100,000 »8H 3 2,400
—A&EZ2% L= 150,000& »8H «3& 3,600
—ol=k 23 & FZ WA2F =TUl
20,0003 »8H 302! 4,800
— otk HI&2S2 =gHl 7,000&*x8H+50 2,800
—=ZUH=RES 251,080,000& x4 .5% 11,299
—HABERES 251,080,000& *3.035% 7,621
—NEPERY3 251,080,000& *1.3% 3,265
—AIRLEERES 7,621,000 *6.55% 500
—dTHEE S 251,080,000& *2.5% 6,277
201 Yet2 2t 995,200 460,500
01 At 22/l 88,200 71,600
O e8| 20,000
O=ZTNSE =& M 4,000,000& *20H 2~ 8,000
O=ZMSE A A JI=X2H|
4,000,000& =14 2 4,000
O=& Adgd a8 & 1,200& «5004 600
O=Z AEa AMEIAN B4z 35,000
OESAIAE AMEZ 200,000& 84 A +12& 19,200
O2clthHd 843 & It /A% H4d+E
70,000& »10H »23| 1,400
23224l 907,000 388,900
Oz3&22= & HA 591,000
— oMl HIIe= 45,000,000& x12& 540,000
—EI3NERE=S 100,000 *30H £ *23| 600
— &It et = 1,500,000& = 12& 18,000
—ot=& &3l 2,400,000& =13 2,400
—SEHA AHA AIEE
50,000 *5000 A&+ 128 30,000
O=ZTMS | Xl &2 3,000,000& x12& 36,000
O=& Adga 24JI|J| =cel=4HHl 10,000
O&&+=XMc& HII=HMeltl 20,000
OANEEH RXH(AS=M L 2HEFY|) 10,000
Odt=&el Xl A& Xeltl 120,000& *2,000& 240,000
206 M= Hl 118,750 118,750
01 24l 118,750 118,750




SA: ABIAT A A
&

H: 4T B2
S SHAEIZAIL 22l - SH(SHIZANEEESAH) (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2

O+z dad N 7g 24,000
Obdl=£dd Xl &2xel 2 2 22,000
O£x=&TMS XA & Al ¢ 18,000
OZEQXHeAIE &*E 2 250& *600kg*365L 54,750

401 Al HI L 2 04| 200,000 0 200,000

Al & H| 200,000 0 200,000
Odte=HelAlE JHE £t 120,000
O2=Xcld HE=+H 50,000
O&F&sB4+Xeld W2 4H 30,000

405 XHAHF S HI 150,000 0 150,000

01 AL 2 ZF S| 150,000 0 150,000
Odtx=HelAld XM 2 100,000
O2=HMdel&d XM 7¢ 25,000
O=xZ Aga AsEID 2 15,000
OdtHelAlE HIAXIH R (MHR) 10,000

EAHAIZANE 2849 261,000 110,000 151,000

207 &I & d 161,000 110,000 51,000

01 s 4| 161,000 110,000 51,000
OZ2Z20t+=Hel Al Jls&c 161,000

401 AlEHIZL 2 0HY| 100,000 0 100,000

01 Al&H| 100,000 0 100,000
Ox=HX0tSotExMelAld AAEAH 100,000

SHIZAE RERH 1,680,000 3,300,000 A 1,620,000

307 ciztol A 1,680,000 3,300,000 A 1,620,000

05 QIZtRES 1,680,000 3,300,000 A 1,620,000
OEEI|IZAIE 2|3t 1,680,000

SAHIZANYE WA 300,000 712,000 A412,000

401 Al HI L 2 0HHI 300,000 712,000 A 412,000

01 Al& H| 300,000 712,000 A 412,000
OodtE=Held s 300,000

=HolsS ot=Xdel = Mol AIY 500,000 0 500,000
= 350,000
= 75,000
= 75,000

401 AlEHIZL 2 0HY| 500,000 0 500,000
= 350,000
= 75,000
= 75,000

01 Al&H| 500,000 0 500,000
Oddls ote=xXel4 HolsSAY 500,000
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